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Given below are two statements, one is
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Many Sanskrit works
on music were translated into Persian
during the medieval period.

Reason (R) : The early chisti sufis were
fond of musical assemblies called,
‘sama’.

Select the correct answer from the
codes given below :

Codes :

(a) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(b) Both (A)and (R) are true, but (R) is
not the correct explanation of (A).

(c) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

Which of the following inscriptions gives
the information about two Ashwamedha
Yajnas performed by the King Pushyamitra
Shung ?

(a) Saranath inscription

(b) Besnagar inscription

(c) Ayodhya inscription

(d) Hathigumpha inscription

The term ‘chakla’ has been used in

Medieval Indian History sources. This

was

(a) !dentical to Paragnah

(b) Identical to Sarkar

(¢) Territorial unit between Subah
and Paragnah, but not identical to
Sarkar

(d) None of the above

1. fRAFE R |qmﬁW(A)ﬁm

0 O

4s

K

8 ) 1T (R) TR |

o (A) ; HehTel 3 S T T o ferddl

1§ 37 YR 2 el 3 ST o T |

=T (R) : ST Fedl ﬁfﬁ Ta wifia

T, Fors T o ST o, S ¥R 9 |

43 fo s & e ST R R |

e .

(a) A (A) LT HIT (R) A TE1 & T
T (R) o (A) R TA AL |

- (b) S (A) TR (R) 1 W & g

FROT (R)W(A)ﬁarmqﬁ% l
(c) O (A) T 2, g 0T (R) TR € |
(d) T (A) 7T @, fohg R (R) TR |

: gﬂlﬁﬂﬁjﬂ?ﬂﬂ?ﬁmﬁﬁwﬁamﬁﬁ?

ot 1 ST g o @ fierd @ 7
(a) TRATE @@

(b) SETR @

(c) e T

(d) Tl TE

| eTETEE W 3 YT Fial # =ehell

762 1 TAM G R | T8

(@) WO % FAEE o1

(b) TTHR o AT &

(c) T S T o e i & TR
o, WA TTHR & THTTST 7E o |

(d) Sfeifaa & & IS off e




4.

Place Leadership
(a) Sambhalpur Surender Sahi
- (b) Ganjam Radhakrishna
Dandsena
(c) Kashmir Gulab Singh
(d) Lucknow Liyagat Ali

wmnmmnmmrmmuﬂ

The Maratha claim of revenue for
protection is known by what name ?
(a) Sardesh Mukhi (b) Chauth

(c) Abwab (d) Jamadani

The mosque-the Khayr-ul-manzil
opposite to the Purana Qila in Delhi was
constituted by whom ?

(a) Hamida Banu Begum
(b) Salima Sultan

(c) Jiji Anga

(d) Maham Anaga

Which of the following pairs is NOT
correctly matched ?

Which of the following pairs is NOT
correctly matched ?

State Ruler
(a) Devgiri Shankar Dev
(b) Warangal Ramchandra
Dev
(c) Hoysal Veer Ballal
(d) Madura Veer Pandya

Arrange the following into chronological
order and select the correct answer
from the codes given below :

A. Muhammad Shah

B. Jahandar Shah

C. Alamgir Il
D. Ahmadshah
Codes :

@ A CD B
(b} B A D C
) C AB D
(d) DB G A
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10.

1.

12.

13.

14.

. Uttar Pradesh has been declared a

Which of the following States of India
has the longest coastline ?

(@) Maharashtra

(b) Andhra Pradesh

(c) Kerala

(d) Gujarat

Which of the following rivers of

‘Biological Disaster' due to environmental

pollution ?
(a) Yamuna (b) Gomati
(c) Sai (d) Tamsa

In which of the following hills the world
famous temple of Lord Venkateshwar
(Tirupati) is located ?

(a) Shevaroy (b) Biligiriranga
(c) Javadhee (d) Mallmalla

Rajasthan desert or Thar desert is the
expanse of which of the following ?

(a) Pliocene

(b) Paleocene

(c) Pleistocene and recent deposits
(d) Oligocene

Which of the following rivers of India
does NOT originate from the Western
Ghats ?7

(a) Godavari
(c) Kaveri

(b) Tapti/Tapi
(d) Kabam

The development of the concept of

‘Global Village' is based on

(a) Social development

(b) Political development

(c) Transport and Communication
Development

(d) International organisations

10.

5 i 14

12.

13.

14,
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oTTE 3 FrefeTias Teal # o Rt qeten
g Al B 7

(a) HETTSY

(b) TFY U

(c) EaG

(d) T=iUd

S e 1 Frafafaa fEt § s
affeoT ST 3 T SHeffeh YAl T
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(a) T (b) Tl

(c) 3 (d) =&l
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Srefafad el § et safea e ?
(a) = (b) ferefifiricm

(c) STTaTal (d) HectHel

ST T 319 AR e e RTiEd
3 fopeenT foeam @ 7

(a) hSTEH

(b) e

(c) e T SAfAa S

(d) anferTe

v 6 Serfafiag afedi # wm ufref e
T 7 e 8 7

(a) =L (b) et /ardt

(c) et (d) e

N T ) b o e ST ®
(a) ETATTER &R

(b) T fo=hrd

(c) T Td Har 1 forrm
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15.

Which of the following countries has the
maximum production of milk per cow ?
(@) Netherlands (b) Great Britain
(c) Denmark (d) India

Which of the following districts of Uttar
Pradesh has the lowest female literacy
rate as per 2011 census ?

(@) Rampur (b) Balrampur

(c) Shrawasti (d) Bahraich

The Sultana, Gulabi and Kali Champa
varieties in different regions of India are
varieties of which of the following major
fruits ?

(@) Custard Apple (b) Orange

() Guava (d) Grapes

Which of the following States is the
largest producer of cardamom and
pepper in India ?
(@) Tamil Nadu
(c) Kerala

(b) Goa
(d) Maharashtra

Match List—1and List— Il and select the
correct answer using the codes given
below the list :

List -1 List-1I
States Highest Peak
A. Kerala 1. Dodda Betta
B. Nagaland 2. Nand Devi
C. Uttarakhand 3. Anai Mudi
D. Tamil Nadu 4. Saramati
Codes :
A B C D
(a) 1 3 4 2
D)2 g
(c) 3 4 2 1
(d) 1 2 3 4

15.

16.

17.

18.

19.
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20.

21.

22.

23.

Which of the following countries is the
leading producer of lodine in the world ?
(a) Japan (b) U.S.A.
(c) Chile (d) China

According to 2011 census, which of the
following states has the lowest child
sex-ratio both in Rural and Urban areas ?
(a) Uttar Pradesh

(b) Kerala

(c) Haryana

(d) Jammu and Kashmir

According to 2011 census, which of the
following states has the largest rural
population ?

(a) Madhya Pradesh

(b) Maharashtra

(c) Punjab

(d) Uttar Pradesh

Consider the following events.
First reptiles

First insects

Shelled animals

First mammals.

ol T o

Arrange the above events in
Chronological order of their origin on
the earth and select the correct answer
from the codes given below :

Codes :

(a) 2 1 3 4
(b) 2 3 1 4
(c) 3 2 1 4
(d) 2 4 1 3

20.

21.

22.

23.

T
-

frffaa i 8 e - e § SEEH
T Sf IATEH © ¢

(a) STTH (b) ©. =T S
(c) Taeh (d) =H

5011 i ST % gER, Frefaiea
Tl 7 Tergd mior Td el ST & 6
fargy o gl = @ 7

(a) IO YT

(b) A

(c) fmom

(d) ST FTHR

2011 S SFRTIHT ¥ AR Fefeied T
& Regeh! Tefior SHEEET Aot & 7
(a) e YT

(b) HEWISG

(c) ST

(d) I &

ﬁmmaﬁqtﬁaﬁaﬁr%m:
1. ggel gy

2. gl hiZ

3, FHIAATA Sid

4, Al THLRT

SRR T 31 geefl T 3k 3cTd B
FIETHATIER STafedd i qem =
el % & T I H =TI

%< :
(a) 2 1
(b) 2 3
(c) 8 2
(d) 2 4

— -k - W
W > s
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25,

26.

27.

28.

29.
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F
24. ‘Saving energy and other resources for

the future without sacrificing people’s
comfort in the present’ is the definition
of which of the following concepts ?
(@) Economic growth

(b) Economic development

(c) Sustainable development

(d) Human development

World Population Day is observed on
(@ 11 July (b) 8 May
(¢) 5June (d) 16 October

Which of the following fixes the poverty
line in India ?
(@) Central Council of Ministers
(b) Lok Sabha
(c) Rajya Sabha
(d) Planning Commission
(Now Niti Ayog)

Which of the following States ranks first
in India in length of roads ?

(a) Maharashtra

(b) Uttar Pradesh

(c) Madhya Pradesh

(d) Rajasthan

Direct Tax Code in India is related to
which of the following ?

(@) Sales Tax (b) Income Tax
(c) Excise Tax (d) Service Tax

The Headquarters of the ‘Green Peace
International’ is located at

(@) Amsterdam (b) Canberra

(c) Ottawa (d) Nagasaki

ABC Index announced by the
Government of India is associated with
which of the following ?

(@) Agriculture

(b) Communication

(c) Health

(d) Education

£ 2

25.

26.

27.

28.

29.

30.
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31.

32.

33.

34.

35.

36.

37.

r= U

According to the UN Department
of Economic and Social Affairs
(UN-DESA) what percentage of world’s
total population is currently living in
urban areas ?

(a) 25 (b) 35

(c) 45 (d) 55

Which among the following is the
secondary pollutant ?

(a) Smog

(b) Carbondioxide

(c) Carbon mono-oxide

(d) Fly ash

In which of the following ecosystems the
species diversity is relatively higher ?
(a) Deep sea

(b) Tropical rain forest

(c) Coral reefs

(d) Desert

Which of the following is NOT obtained
from insects ?
(a) Silk
(c) Lac

Which of the following represents the
decibel level of rustling of tree leaves
in normal circumstance ?

(a) 10db (b) 20db

(c) 60db (d) 100db

(b) Honey
(d) Pearl

United Nations Conference on climate
change, COP21 was held in

(@) Moscow (b) Paris

(c) Berlin (d) Tokyo

When was India’s first National Action
Plan on Climate Change released ?
(a) 2000 (b) 2008

32.

33.

(c) 2012 (d) 2015

31, g 3 ol e T
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35.
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37.
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38.

39.

40.

41,

42.

43.

Which is the most stable ecosystem ?
(a) Marine (ocean)

(b) Forest

(c) Mountain

(d) Desert

Incinerators are used for which of the
following ?

(a) Burning wastes

(b) Putting wastes into them

(c) For cutting green trees

(d) For making fertilizers

What is ‘Green House Effect’?

(a) Increase in global temperature

(b) Decrease in global temperature

(c) Increase in sea water temperature

(d) Increase in temperature of rivers
and lakes

Which of the following is the main
component of the natural gas ?

(a) Ethane

(b) Butane

(c) Carbon mono-oxide

(d) Methane

Which pain killer given to cattle is
responsible for near extinction of
vultures in India ?

(a) Ibuprofen

(b) Acetaminophen

(c) Asprin

(d) Diclofenac

Which of the following countries was the
largest emitter of CO, in 2015 ?
(a) China (b) U.S.A.

() India (d) France

38.

39.

40.

41.

42.

43.
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44. Which of the following statements are
true ?
1. Natural disasters cause maximum
damage in developing countries.
2. Bhopal gas tragedy was man-made.
3. India is a disaster free country.
4. Mangroves reduce the impact of
cyclones.

Select the correct answer from the
codes given below :

Codes :
(@) 1,2and3
(c) 1,2and 4

Which of the following has the highest
velocity ?

(a) Cosmic rays

(b) Light

(c) Electron

(d) Supersonic wave

(b) 2,3and4
(d) 1,3and 4

45.

46. Graphene is
(a) An alloy of carbon
(b) Nano structure of carbon
(c) lsotope of carbon

(d) None of the above

47. The sound will have highest velocity in
) (@) Vacuum (b) Air
(c) Water (d) Steel

48. A powerful eye irritant in the smoke is

(a) Ozone

(b) Sulphur dioxide

(c) Carbon dioxide

(d) Peroxyacetyle nitrate

The book ‘A Brief History of Time’ has
been written by whom ?

(a) Stephen Hawking

(b) J.V. Narlikar

(¢) C.V.Raman
(d) S.Bose

49,
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48.
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50. Which of the following is the richest

source of Vitamin C ?
(a) Orange (b) Apple
(c) Carrot (d) Amla

Which of the following planets may be
suitable for existence of life ?

(@) Mars (b) Mercury

(c) Venus (d) Jupitor

Einstein was award Nobel Prize for of
his theories

(@) Theory of relativity

(b) Theory of photo electricity

(c) Theory of specific heats

(d) Theory of Brounian motion

Which of the following energy sources
produces NO atmospheric pollution ?
(@) Nuclear energy

(b) Solar energy

(c) Petroleum energy

(d) Coal energy

The Directive Principles of State Policy
may be-classified in to which of the
following parts for the sake of convenient
study ? '

(a) Socialist

(b) Liberal intellectualistic

(¢) Gandhian

(d) All of the above

Which of the following was called
as Economic cabinet of India by
Ashok Chandra ?

(a) Planning Commission -

(b) Finance Commission

(c) Central Cabinet

(d) Administrative Reform Commission
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55.
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56.

57.

58.

59.

60.

B1.

Who was the Chief Justice of India when
Public Interest litigation was introduced
in the Indian Judicial system ?

(a) M. Hidayatulllah

(b) - A.M. Ahmedi

(c) P.N.Bhagwati

(d) A.S. Anand

Who is the author of the book “The
Accidental Prime Minister” ?

(a) Rajdeep Sardesai

(b) Karan Thapar

(c) Kuldeep Nayar

(d) Sanjaya Baru

Mention the correct date of the last
meeting of the Constituent Assembly
of India.

(a) 26 Nov. 1949 (b) 5 Dec. 1949
(c) 24 Jan. 1950 (d) 25 Jan. 1950

Which of the following CAN NOT be
dissolved but abolished ?

(a) House of People

(b) Council of State

(c) Legislative Assembly

(d) Legislative Council

When did the Government of India
establish the independent Ministry for
‘Women and Child Development’ ?

(@) 1985 (b) 1986

(c) 1987 (d) 1988

Whatcan be the maximum representation
from the Union Territories to the Lok
Sabha ?

(@) 15

(b) 20

(c) 25

(d) None of the above

12-
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(a) ArHEl

(b) TST |l

(c) Toamaw

(d) faum uitse

ST T E i v At &
70 T HaATerd e TTIYa foRaT 7RI 7
(a) 1985 (b) 1986

(c) 1987 (d) 1988

s g A g wid &1 F TSk
ghafifta e A ashar 2 7

(@) 15

(b) 20

(c) 25

(d) IEaHE FE T -




65.

66.

67.

68.

'I_-_
62.

63.

64.

.U O

How many teams participated in FIFA
World Cup organised in Russia from
14 June - 15 July 2018 ?
(a) 32 (b) 34
(c) 36 (d) 30

In which of the following countries did
Prime Minister Modi start ‘Ramayana

- Circuit’ on May 11, 2018 ?

(a) Sri Lanka (b) Myanmar
(c) Nepal (d) Indonesia

‘Purvanchal Express Way' in Uttar
Pradesh will not pass through which of
the following cities ?

(@) Faizabad (b) Basti

(c) Azamgarh (d) Mau

According to United Nation’s E-Govemment
Index, 2018 India ranks at which place ?
(a) goth (b) 95t
(c) 9eth (d) 9oth

Which of the following States was in the
news for the outbreak of Nipah virus
disease in May-June, 2018 ?

(a) Bihar (b) Kerala

(c) Haryana (d) Guijarat

In which city the Indian National Digital
Library was dedicated to the nation in
June 2018 by Prakash Javadekar ?
(a) Bengaluru (b) Hyderabad

(c) Delhi (d) Chennai

What is the rank of India in the world as
per Global Peace Index (GPI1), 2018 ?
(a) 136th (b) 137t
(c) 138th (d) 134th
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63.

64.

65.

66.

67.

68.
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14 57 9 15 TS 2018 75 T4 3 SRR
HIH! (FIFA) fowa %9 e et 211 3
w1 form 7

(a) 32 (b) 34

(c) 36 (d) 30

freferRaa 2wt & fored worm ot ot 3
11 7% 2018 %1 ‘Tomm wfe’ it ywara
&l 7

(a) e (b) HHR
(c) T (d) SeMfmE

WY H “gatee tmm At it
W o TR & 7 e ?

(a) HmamE (b) st

(c) TSR (d) 7=

I T S-TEHH G, 2018’ %
SHIER WA ] - TIH 2 7

(a) 9o=f (b) 95af

(c) 96af (d) e9df
frrferied sl # @ wé-s7 2018 &
uTe arra s & v & o ==t i
oy ?

(a) ferem (b) T

(c) sl (d) TSR

I T fsfreet qeaehrera s 2018
o ST TSR g fe o d g 9
wmfiq foma ma ?

(a) T (b) FeTETE
(c) feeehi (d) 3-8

STIAR forea & snd 71 FH-w e g ?
(a) 136 df (b) 1373t
(c) 138df (d) 134 af
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69.

70.

i1

i

73.

74.

15th Pravasi Bhartiya Diwas in January
2019 will be held in which city ?

(a) Varanasi (b) Vadodara

(c) Jaipur (d) Pune

From 4t July 2018 the Minimum Support
Price (MSP) during 2018 — 18 for paddy

per quintal is
(a) Rs.1,550  (b) Rs. 1,650
(c) Rs. 1,750 (d) Rs. 1,950

Who among the following won the
Pakistan’s Parliamentary Elections in July
2018 and became the Prime Minister ?
(a) Nawaz Sharif (b) Imran Khan
(c) Bilawal Bhutto(d) Reham Khan

Who among the following won the
Magsaysay Award, 2018 ?

(a) Bharat Vatwani

(b) Sonam Wangchuk

(c) Both (a) and (b)

(d) None of the above

The 10t ‘BRICS’ Summit 2018 was held
in which of the following countries ?
(b) South Africa
(d) China

(a) Brazil
(c) Russia

Which of the following is a Samhita of
Shukla Yajurveda ?

(a) Vajasanami (b) Maitrayani

(c) Taittiriya (d) Kathak

69.

70.

71.

T2,

73.

74.
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<
155F warE g ey satt 2019 ®
g sreL # ot g ¢

(a) RO H (b) sEETH

(c) SARH (d) T H

4 TS 2018 ¥ ° 1 Wi et I

gl g (TA.gEd.) 2018 — 19 &
N ©

(a) %. 1,550 (b) %. 1,650
(c) % 1,750 (d) %. 1,950
frerfafaa & RFe JaTs 2018 H ATiREH
Wﬁaﬂagmasﬁma?ﬂuqﬁﬂ?ﬁam?
(a) T I® (b)) THHEH

() PemEd g  (d) WAEH

£y 1 fore ad 2018 % WY GEFR
Sfrar ?

(a) WTLd FEam!

(b) TYH TFTIH

(c) I (a) AR (b)

(d) IHRE ¥ g TEN

MJW’ (BRICS) fimat w=ie 2018
frfitad S o fred st o mman ?
(a) WS (b) =feFor sTithent
(c) &4 (d) =™
freferfaa § ¥ I Yo T9AE i el
27

(a) TTSEAH (b) AT

(c) o™ (d) FTeH




7.

75. Given below are two statements, one is

76.

R by,

labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Turkish invasions on
India were successful.

Reason (R) : There was no political
unity in North India.

Select the correct answer from the
codes given below : ;
Codes :

(a) Both (A) and (R) are true and (R)
is the correct explanation of (A)
Both (A) and (R) are true, but (R)is
not the correct explanation of (A)
(A) is true, but (R) is false

(A) is false, but (R) is true

(b)

Arrange the following temples in a
chronological order and select the correct
answer from the codes given below :

. Brihdishwar temple

Il. Gangaikonda cholapuram temple
lll. Shore temple of Mahabalipuram
IV. Sapt pagoda

Codes :

(@ I, 11, IV, 1
(o) W, 1, m, v
() 1, 1, v
(d) Iv, 1, 1, 1

The inscription of Hathigumpha is the
source of information about which king ?
(a) Kharvela

(b) Ashok

(c) Harshavardhan

(d) Kanishka

1
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75. 1 21 e few e & s w e (A)

76.

ks

{ T

qIT GER 1 FHRT (R) FE1 TR |

U (A) : TR T Gohl ATHAT T%A |
T (R) : ST A § THIerer Terar Ta
off |

e o 2t & & ot 3 = == v |
Re '
(a) YT (A) qATHRT (R) 1 T2 S qer

HIT (R) YA (A) ! G&t =TT &

(b) = (A) T <hTevT (R) 2 e & g
FRUT (R) Y (A) I =are T8 2

(c) =M (A) |el &, fohg 0T (R) Teier 2
(d) FI (A) TeTd 2, Tohg o (R) wET

T4 5 =t rergEn § =Efem fitu
3 e fow 5 # & wét smoghi

I. JEaiver Hfex

II. RIS ST Hft

lIl. HET=AY 1 921 Hiew

IV. | e

%

(@ 1, 1, Iv, 1
(b) 1, 1, 11, v
() 1, 1, 1, 1v
(d) Iv, 1, 1, 1l

BT 1 s1firer o v ¥ fawe
H SR o @R ?

(a) WRaA

(b) A3k

(c) LECCH

(d) HfTer
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78.

79.

80.

81.

Given below are two statements, one is
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : In 1946, the Muslim
League withdrew its acceptance of the
Cabinet Mission Plan.

Reason (R) : The Muslim League
joined the interim government formed
in 1946.

Select the correct answer from the
codes given below :

Codes :

(a) Both (A) and (R) are true and (R)
is the correct explanation of (A).
Both (A) and (R) are true, but (R) is
not the correct explanation of (A).
() (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

(b)

Which among the following sites
provides evidence of domestication of

animals in the Mesolithic period ?
(@) Odai (b) Bori
(c) Bagor (d) Lakhnia

Which of the following pairs is NOT
correctly matched ?

(a) Adina Masjid — Mandu

(b) Lal Darwaza Masjid — Jaunpur

(c) Dakhil Darwaza  — Gaour

(d) Tin Darwaza — Ahmedabad

Which of the following pairs is NOT
correctly matched ?

(a) Dhruvadas — Bhagat Namawali
(b) Nabhadas — Bhaktamal

(c) Raskhan — Rasik Priya

(d) Usman — Chitrawali

78.
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79,

80.

81.

[N

s
3 2 e TR O | w1 e (A) A
TG ) R (R) FE R |
FoA (A) : 1946 T giEm ef 3 e
forem v 3 forw € 1 1ot itehta reE
GRS
FROT (R) : 1946 § 73 afm THN
3 mfeem o wfirer g8 o |
2 Ru w2 § dwd IWIRT |
%c !
(a) A (A) TTHR (R) 31 Hel & 41
WU (R) F2H (A) FI T€ AR |
(b) T (A) T HRY (R) SHI HEl & T
ST (R) T2 (A) = A TE # |
(c) o (A) T B, T FR (R) Tl @ |
(d) oM (A) T &, WG F (R) TEIE |
frafafaa § ¥ o ! TEgdTEIn e
# ug] WTei & T e € 7
(a) 3Ma (b) R
(c) SR (d) @it
Frefafia 7ot o a8 gl TE & 7
(a) 3T HiESE ~ g
(b) Tl ST HIESHE — SHYL
(c) e gas  — S
(d) < SETsT — 3ITEHCGTEG
fyefefad Tt # =7 Tl gaferd TR 7
(a) YEETH — YA ATHEAT
(b) ATHIGTE — FFRHTA
(c) TaEm - e frm
(d) S - e

B e e -
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83.

84.

85.

82. Arrange the following events in their

chronological order and select the
correct answer from the codes given
below :

A. Hunter Commission

B. Sadlar Commission

C. Wood’s Despatch

D. Sargeant Plan

Codes :

@) A B D ¢
BTGB A D
(e A BC D
(d C AB D

Who among the following leaders founded
the revolutionary organization — ‘Abhinav
Bharat Society’ ?

(@) Bhagat Singh

(b) Vinayak Damodar Savarkar

(c) Barindra Kumar Ghosh

(d) Pulin Bihari

Which of the following pairs is NOT
correctly matched ?

Rebellion Year
(a) Santhal 1855
(b) Kol 1831
(c) Khasi 1829
(d) Ahom 1815

Which of the following is the highest
waterfall in India ?

(a) Jog fall

(b) Kunchikal fall

(c) Rakim Kund fall

(d) Kevtifall
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82. frfdflad weaietl &1 Femaman

83.

84.

85.

Eferd Fiforg 3 19 23 7 52 3 v
I F1 =T899 I |

A. T IAEN

B. TSR M

C. 98 &I Hyungs

D. Heie AT

He
(@ A
(b) C
(c) A
(d) C

ferrferfaa Sanei & forerm shifiaemt v,
fa wRa T i T o 7

(a) wd fe

(b) TerTass I TTeER

(c) =ITR= FHAR =y

(d) gfer forerdy
Teferfed 7wt 8§ 9 o gifea 72 2 2

s Td
(a) wuT 1855
(b) F 1831
(c) @re 1829
(d) =MW 1815

Frefafas & #%9 yre =1 g8 $91.
EEA R

(a) ST STesgTa

(b) Fetehdl STy

(c) TfFm FUe Sersara

(d) Fafd Seryurg

> 0 W w
WO >»0O
= B Bl v i oo
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86. ‘Vegetation is the true index of climate’.
This statement is associated with
(a) Thornthwaite (b) Koppen
(c) Trewartha (d) Stamp -

87. Inwhich of the following countries is the
Pampas grasslands situated ?
(@) Argentina (b) Brazil

(c) Chile (d) Ecuador

~ 88. Which of the following pairs is NOT

correctly matched ?

Desert
(a) Sonoran -
(b) Taklamakan —
(c) Karakum -
(d) Gibson -

Arrange the following coffee producing
countries in descending order of their
coffee production (2016, quantity) and
select the correct answer from the
codes given below :
A. Colombia

C. Brazil

Country
USA

China
Turkmenistan
Brazil

89.

B. Vietnam
D. Indonesia

Codes :

(@ D,CBA
(b) C,B,AD
(c) B,D,C, A
(d) C,A B D

90. How much the maritime distance between
India and Europe was reduced after the
construction of the Suez Canal ?

(@) 5,000 km (b) 7,000 km

(c) 8,000km  (d) 10,000 km

86.

87.

88.

89.

90.

T
.

‘amﬁ(mmaﬁrw%’luﬁw
e §

(a) oH=E (b) wIUH

(c) Srener (d) ®¥=

Frerferfaa 2 8 & fred g =@ 1 HeH

feag?

(a) ISifee (b) S

(c) =feht (d) 3SR

fffaa gl d S e gl T R 7
TEEAA )

(a) A - @.q. miE

(b) THATHERM - 9N

() A - gHEH

(d) FreeA - SRl

Sreaferiad ik SeaTaeh <1 ! 36k I

FeTEd (2016) (FTET) 1 STERE FH H

et ¢ i A 3 T e @ wEl W

Eakcocicadl

A. FiATeE B. foram

C. sE D. $eHid

e ;

(a) D,C,B,A

(b) C,B,A D

(c) B,D,C,A

) C,ABD

T e % 91 H o ITEI MRE 3N

3 wer 6 agfeen 0 3 oraeft =l ol ®

(a) 5,000 .. (b) 7,000 fF.H.
(c) 8,000 %% (d) 10,000 fh.#.
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93.

94.

Arrange the following Indian Meteorological

Headquarters in Chronological order

of their establishment and select your

correct answer from the codes given

below :

A. New Delhi B. Kolkata

C. Shimla D. Pune

Codes :

a):C D A B

BB . A D C

Eils. . B .0 A

@B G - D A

Which of the following statements is

NOT correct ?

(a) Black soil is locally called ‘regur’

(b) According to Krabs the regur soil
is essentially a mature soil

(c) Black soils are highly retentive to
moisture

(d) Black soil is found in Himalayan
region

MacMohan line forms the boundary

between

(a) India and China

(b) India and Pakistan

(¢) India and Myanmar

(d) India and Nepal

At the mouth of which of the following

rivers the ‘bird's foot’ type delta is

formed ?

(a) Huang Ho (b) Nile

(c) Danube (d) Mississippi

91.

92.

93.

94.
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fFrferaa st dvem yermert # s
TG % HTeTTshe 3 saafeer Hifvm a7k
A 22 T g2 A o1 W 3 =
Hifer |
A. 8 feett B. whicahTal
C. Rmem D. 79
L TAH
@D - A B
B8 A DE
(c) D B G A
BB C’ T A
frferRa et o =7 vt a2 7

() Tl gt <t T e TR @
SR |

(b) 558 % STgER U ik arfard = &
T Uiy gt Bt # '

(c) Wreit gt & amren (Feft) wmoor
I I=T AT B |

(d) =nredt g e & & wRfr et 2 |

Hepure Y o Y e 2

(a) 9Rd T =9 &% g

(b) WRG Td wifeha & g

(c) ¥RA @ W & oy

(d) ¥RE & 91 & s

FrforRes 2wt 4 frad peit vt &

Ut o) AT aTen et T R 7

(a) ®TE (b) et

(c) &= (d) forefifemt




GCTWY - 01

95.- Natural growth of population is the

96.

oF.

98.

99.

outcome of which of the following ?
A. Crude Birth Rate

B. Crude Death Rate

C. Migration

D. Marriages

Select the correct answer from the
codes given below :

Codes :
(@) Only A (o) Only C
(c) BandD ~(d) AandB

The Human Development Index (HDI)
was first developed by which of the
following ?

(a) UNDP

(b) IMF

(c) UNICEF

(d) UNCTAD

Which of the following is the largest rural
employment programme in India ?

(a) MNREGA

(b) TRYSEM

(c) Work for food

(d) Skill Development Programme

Which of the following is measured by
the Lorenz curve ?

(a) Nliteracy

(b) Unemployment

(c) Population growth rate

(d) Inequality of Income

Which of the following States is ranked
economically at the top but the lowest
on the basis of sex-ratio ?

(a) Madhya Pradesh

(b) Maharashtra

(c) West Bengal

(d) Haryana

95.

96.

97.

98.

99.
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mﬁmq@ﬁmﬁﬁ%ﬂ%‘
qfiom g ?

A. TR S &

B. aTeMIferd geg =X

C. vasH

D. fame

f Mg 2 & T I H T HINT

< :
(a) A (b) e C

(c) B3R D (d) ASRB

i & @ e g0 oma fawe g
(HDI) Teigem ferenfra fehan 7o 7

(a) L.EA.SLUL. T
(b) TE.TH.TH. T
(c) IFEE g

(d) 3ihere B

Frefafiga o = O | TrEior ST 61
gl Fe1 A ® 7

(a) %ﬂ;;nq

(b)

(c) M % Fgel 3T

(d) reret ferepra FRIH

%ﬁn%ﬁaaﬁ@qﬁhﬁa%mmmm
?

(a) AmET

Eb% SEE g

Cc

G REIREIRERER

Frfafaa o=l # = anfdes gfd 4 vl

gﬂéﬁﬁtﬁwémmm:ﬂ%
?

(@) WEA RN

(b) HENTS

(c) TfTe =T

(d) =fEmm
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101.

102.

103.

104.

105.

100.

Which of the following taxes is levied by
the Gram Panchayats ?

(a) Sales Tax

(b) Land Revenue Tax

(c) Taxon Local Fairs

(d) None of the above

In India which of the following Five Year
Plans was launched with a focus on
sustainable growth ?

(a) ofth (b) 1oth

(¢) 11th (d) 12th

Which of the following cities in Uttar
Pradesh has NOT been selected for
development under the Smart City
Development Programme of the Central
Government ?
(@) Lucknow

(c) Ghaziabad

(b) Allahabad
(d) Kanpur

What is the current Total Fertility
Rate (TFR) of India according to the
National Family Health Survey (NFHS)
(2015 -16) ?
(@) 2.2
(c) 3.2

(b) 2.4
(d) 3.4

Which of the following committees was
set up in India for identification of BPL
families in Urban Areas ?

(@) Tendulkar Committee

(b) Saxena Committee

(c) Lakdawala Committee

(d) Hashim Committee

According to the India State of Forest
Report, 2017, what percentage of total
geographical area of the country is
under forest ?
(a) 20.34
(c) 21.54

(b) 22.34
(d) 23.54

GCTWY - 01

100. f=fafas = & BF-w1 3 am garat

101.

102.

1083.

104.

105.
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B ST ST 8 7

(@) fosht =

(b) TS &

(c) T Al W o

(d) ST @ Fi§ e

wRa # frafufes am ast Seme &
ferereht w2 “geiofta gy’ o 7
(@) 9 (b) 107

(c) 117 (d) 127

I e & Frferfaa 7t o & g o
T&21 forepmer wrefsnm 3 Ry & Riw iy
HERR I TR g R 7

(a) SETH (b) IETEETR
(c) misEETE (d) HAFR

T TR R T (NFHS) (2015 1 6)
& ITAR TAUH IR B T T ®
(TFR) 1 & ?

(a) 2.2 (b) 2.4

(c) 3.2 (d) 3.4

WRd § TR &5 # o 0 ue, qfEm @)
Ug=TH % fore Ffrftaa 3 & - aRify
Taa 1 i %

(@) dger

(b) T afafy

(c) TeneaTen afify

(d) TTRm ity

3eT1-RT e vrw a9 2017 &

Torer wfersTaisr 9= & ofarfa & 7

(a) 20.34 (b) 22.34

(c) 21.54 (d) 23.54
5
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106.

107.

108.

108.

110.

111.

112.

113.

When was ‘Project Tiger’ launched in
India ?

(a) 1968
(c) 1984

(b) 1972
(d) 1993

Which of the following is an example of
anthropogenic biome ?

(a) Fresh water (b) Grassland

(c) Rainforest (d) Cropland

Which of the following animals can live
for the longest duration without drinking
water ?

(a) Giraffe
(c) Kangaroo

(b) Camel
(d) Kangaroo rat

India’s first National Centre for Marine
Biodiversity (NCMB) is located in which

city ?
(a) Bhavnagar (b) Jamnagar
(c) Mumbai (d) Puducherry

Dachigam National Park is associated
with which of the following ?

(a) Musk Deer

(b) Golden Oriole

(c) Yellow-throated Marten

(d) Hangul or Kashmir Stag

When the World Biodiversity Day is
observed ?

(a) March, 22
(c) June, 23

(b) May, 22
(d) April, 16

Which of the following is concerned with
sail ?

(a) Edaphic
(c) Biotic

(b) Climatic
(d) Topography

The maximum concentration of ozone
is found in which of the following ?

(a) Troposphere (b) Mesosphere
(c) Stratosphere (d) Exosphere

=29

106.

107.

108.

109.

110.

111

112.

113.

T A

.
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w7 # s afeisET E Y e Y
(a) 1968 % (b) 19727H

(c) 1984 H (d) 1993#
frferiad # i AFasa A 1 Th
ISR E 7

(a) Sieras (b) ©TE 1 HGH
(c) I = (@
fr=ferfaa o -1 s fam o f
T e 27af o E gehdT © ¢

(a) SR (b) 32

(c) FTE (d) e <&
T FT 9IH ATAA Gt B A
FRiTeRaftd (T ) frm e i
a7

(a) WETRH (b) SR H

(c) g (d) gg=iiH
frm T vam Frafafaa 3 @ frea
grafe ® 7

(a) L

(b) Theed AfEA

(c) IeA-9Me A

(d) T AT HVHR LR

fva 3 Tffirar Raw e gam smar e ?
(a) =T, 22 (b) S, 22

(c) ¥, 23 (d) 3T, 16
frafafeg § PR gET 4 TEfa § 7

(a) 3=fheh (b) FTEHIH

(c) S (d) 2w

= & ¥ e aiem o waiftes |
o2 ?

(@) ZwhEmd  (b) FEEREH
(c) BRErH  (d) TFEEHERHA
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114. As a result of global warming the

115.

116.

117.

118.

119.

frequency and severety of which of the
following are increasing due to global
warming ?

(@) Cyclones only

(b) Storms only

(¢) Hurricanes only

(d) All of the above

Which of the following is NOT an example
of in-situ conservation strategy ?

(a) Biosphere reserve

(b) Botenical garden

(c) National Park

(d) Sacred groves

Ultra-violet radiation from sun light
causes the reaction that produce which
of the following ?

(@) CO

(b) SO,

() O

(d) Fluorides

Norman Borlaug was given Nobel Prize
in which field ?

(@) Agriculture  (b) Economics

(c) Medicine (d) Peace

Which of the following paris is NOT
correctly matched ?

(a) Renneting-Cheese

(b) Genetic Engineering-Plasmids
(c) Golden rice-Vitamin A

(d) Ozone layer-Troposphere

Which of the following pairs is NOT

correctly matched ?

(a) Bandipur National Park-Kamataka

(b) Manas Wildlife Sanctuary-Assam

(c) Periyar Wildlife Sanctuary-Kerala

(d) Simlipal National Park-Madhya
Pradesh

114,

115.

116.

117.

118.

119.
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TehrehY STRESITaT 371 Sevee wa w2 ?
(a) e Tshard
(b) et qHM hit
(c) et Havet
(d) ITh @t it

Frfafad § 17 w-amm e wrfy
1 3B TE B 2

(a) HAFTR

(b) %Tﬁﬁam

( I

(3)) gfas 39 5
T % T A IR - s R st
fadamnigrweid ?

(@) FEH FHTETES

(b) FEH T3 ATFTEE

(c) A=

(d) weirTEEH

AT ST R & § Aae wer
Y& fora man ?

(2) (b) srefamren

(c) ufy (d) wnf<
Frerfereaa gt 3 i wét gifem =i § 7
(a) WfE-wit

(b) & TRl -werferey

(c) TeeT ATad-ferftm A

(d) HISTH Ra-2rdiediar

frerferRed it & i e gl i & 7
(@) TR TR FTH-FATeH

(b) AFE T ST AT 378y

(c) YR T g T3

(d) Tomefiurer wsm saH-me w2
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120. According to J.V. Narlikar which of

121.

122.

123.

124.

125.

the following has so far NOT been
considered as a science ?

(a) Astrology

(b) Astronomy

(c) Cosmology

(d) Nanotechnology

Which of the following was invented by
Wilhelm Roentgen ?

(a) Radio

(b) X-Ray Machine

(c) Electric Bulb

(d) None of the above

Double-helical structure of DNA was
given by whom ?

(a) Jacob and Monod

(b) Watson and Crick

(c) H.G. Khorana

(d) None of the above

Which of the following electro magnetic
radiations has the maximum energy ?
(a) Visible light

(b) Infrared rays

(c) Ultraviolet rays

(d) X-rays

Methane is emitted from which of the
following ?

(@) Paddy fields only

(b) Termitary only

(c) Both from (a) and (b)

(d) None of the above
Which of the following elements is a | 125.
semi conductor ?
(@) Aluminium  (b) Silicon
(c) Silver (d) Lead
-24-
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120.

121.

122.

123.

124.

(I RO

o

Frefrfiga 1 58 51, =ft. Aefien & FAgER
a7l e T 21 9T ST @ 7

(a) <gifay

(b) EIfeTeh!

(c) SafEshl

(d) R

(b) TFE- WA
(c) Torsrelt = et
(d) ITIeH T I3 e

A, U, H Tegrefer v e g <
T8 off ?

(a) SeHa g HAEE

(b) A qT foheh

(c) wH. Sl
(3) Tﬂﬂiﬁﬁg{g'ﬁ?ﬁ
Srferfian frm g fafwwn 4 |

o 391 AR Bl © ?

(@) TEARRT
(b) e ToRTUl
(c) TR feeol
(d) X-fereot

o e & 3 Fred Fenadt = swia
B g ?

(a) FaA-TH H Gl |

(b) et 41 <Y s &

(c) (a) 3 (b)IHIH

(d) Ik o ToReft | T

Prefafiad ol § #9 JTEaEs © ¢
(a) Agfutam  (b) Tuferrm
(c) =Tar (d) =&
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126.

127

128.

129.

130.

131.

How many types of justice, liberty,
equality and fraternity in that order has
been mentioned in the preamble of
constitution of India ?

() :3,5,2 1 (h) 1.8,5,2
{e)2,5 3.1 (d) 5.2.1,3

Who was the UPA candidate for the
2017 Presidential election ?

(@) Ms. Meira Kumar

(b) Mr. Gopal Krishna Gandhi

(¢) Dr. Karan Singh

(d) None of the above

Who was the first Vice-Chairman of the
NITI Ayog ?

(@) Arvind Panagariya

(b) Raghuram Rajan

(c) Chandrashekhara Subramanyam
(d) Rajiv Kumar

Which of the following is the first State in
India formed on the basis of languages ?
(a) Kerala

(b) Madhya Pradesh

(c) Andhra Pradesh

(d) Uttar Pradesh

Which of the following is an extra-
constitutional agency ?

(@) Union Public Service Commission
(b) Finance Commission

(c) Election Commission

(d) NITI Ayog

The recommendations of Sarkaria

Commission relate to which of the

following ?

(a) Distribution of revenue

(b) Power and functions of the
President

(¢) Membership of Parliament

(d) Centre-State relations

126.

127,

128.

129.

130.

131.
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WA % HfEE ) swara 3§ frad gew
1 =T, ST, T T HIq H1 36
FH T 3gE R mn g ?

(@) 3,5,2,1 (b) 1,3,5,2

() 2,5,3,1 (d)-5,21,3

2017 3 Tegafer gomer 1, ., 1 3efiear
e
(a) gL HIT FAR

(b) =i, TraTeT S Tief
(c) ©I. %W fs

(d) Wi § %78 7
i SR 1 wem Iy (Symwmafa)
i 97 ?

(a) 3R e

(b) TTTH =T

(c) =SRIE GeleA=am

(d) TSia FER !
Frfefaa d = —ar yra o w3 eman
W T 981 U o7 7

(a) =

(b) HET Yo

(c) Y g1

(d) Wy _
Frferaa # 2 v dfamm gen 2 ?
(a) |9 T FaT AR

(b) oy amim

(c) Fratam smam

(d) iy s

BRI AR 6 Hegfean PrafiRag 5§
forad Trafea § 7

(a) TS &1 faawo

(b) Trszufer Y sifrran ue e

(c) ©gh Hewqar

(d) FH-T grary

Pl
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132.

133.

134.

135:

'136.

137.

The Parliamentary form of Government
was first introduce in which country ?
(a) Great Britain (UK)

(b) Belgium

(¢) France

(d) Switzerland

The Council of States has exclusive powers

in relation to which of the following ?

(a) To initiate proceedings for the
removal of the President

(b) To initiate proceedings for the
removal of a judges of the Supreme
Court

(c) To recommend creation of a new
All India Service

(d) None of the above

In which Part of the Constitution of
India we find the provisions relating to
citizenship ?
(a) Partl

(c) Part VI

(b) Partll
(d) PartIX

Parliament can Amend the provision
on official language of India under the
Constitution by

(a) a simple majority of its members
(b) 2/3™ majority

(c) 3/4" majority

(d) support of 1/3 of its members

After how many days of absence from
Parliament without permission can a
M.P. be disqualified ?

(@) 30days (b) 60 days

(c) 90 days (d) 120 days

Who among the following Governor
Generals ridiculed congress as
representing only a ‘microscopic minority’
of people 7

(a) Lord Dufferin

(b) Lord Curzon

(c) Lord Minto

(d) Lord Lansdown

132.

133.

134.

135.

136.

137.
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(c) BEH

(d) TeesReme
Afafiga 1 4 ross geg A TS AT
= R R 7

(a) ngqﬁfaﬁmawmﬁ%gmr&aﬁﬁ

TRY HET

(b) AT IR o AT ohi ST
A T FREEN HAT

(c) ek Tt SRt SR Bell o G ©G

(d) mﬁ‘gﬁ

oICd 3 SiaeT o fhE WP § &9 ArTieEhdl
3} daft yEEHEi U 2 7

(a) W (b) ST II

(c) W VI (d) T IX

ReTa Gfaum # TR @i AR ST
# [ W o TEE R s 8
(a) AT HEEA! % HIUHYT FEHd S
(b) 2/3 FEHA T

(c) 3/4 sigHd &1

(d) 9 1/3 FEET % |uelA g

T argaf o fopaw e dwe @ srgaiern
& oL ot Te =Y o wifa fom s
Tha1 ® 7

(a) 30 TA (b) 60T

(c) 90T (d) 120 T

e T Sl | | R s ia @
‘ST FTeUTEas Arl o ST
F el Tge SR TR &7 7

(a) < THE

(b) =TS TSI

(c) =me i

(d) e THS
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138.

139.

140.

141.

142.

What is Dhing Express ?

(a) Train between Dhing and Kolkata

(b) Nickname of Hima Das

(c) Express way between Palwal and
Kundli

(d) Popular Magazine

Mary Kom has recently (Sept. 2018)
been made brand ambassador of which
of the following ?

(a) Swachcha Bharat

(b) BSNL

(c) Beti Bachao Beti Padhao

(d) Project Khel

Supreme Courts judgement regarding
homosexuality is related to which of the
following ?

(@) Section 377 of IPC

(b) Article 377 of the Indian Constitution
(c) Article 277 of the Indian Constitution
(d) None of the above

Supersonic Cruise Missile BrahMos is
joint venture of which of the following ?
(@) Indian and Russia

(b) India and China

(c) India and Israel

(d) None of the above

Andrez Manuel Lopez Obrador is
President elected in July 2018 of which
of the following country ?

(@) Venezuela (b) Argentina

(c) Mexico (d) Nicaragua

138.

130.

140.

141.

142,

=27=

GCTWY - 01

QI LS TR 7

(a) <P AT FicThTT % HEg T
(b) Tem e =1 Heeen am

(c) eI q Fusel  sfiw el 3
C)RSIERREED

T %0 =1 7l @ 3 (Rrawer 2018) fre
4 ¥ forgat SIvs CeEst SR T R 7
(a) ¥=Ees YA =1

(b) sf.ua.w.TE. #

(c) &3 s=Tl 7 uersT W

(d) SR Ed F

oA freRa T2l g =mes w1 vy
freferfiaa o forad aeftm 2 ?

(@) W1.2.49. < am 377

(b) WRcTE Glag™ 1 Ag=de 377

(c) WY Hiawe &1 =ae 277

(d) 3I9Th H hé TEf

o % e sww fe § 9
TopereT e wygwh IusRe & 7

(@) YRd 991 §4H =1

(b) WG qT =

(c) MR T SIS =l

(d) STRE o =I5 TEl

UgS HUe S SASIER Ford 2018 §
Frer 3 2 i 21 3 gy Pt 5w 7

(a) SS[Te (b) =FStfeAT
(c) AfRaent (d) fehmmgen
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143.

144.

145.

146.

147.

On the basis of Panama Papers, the
Prime Minister of which of the following
countries was sentenced to 10 years in
jail for corruption ?

(a) Maldives

(b) Trinidad

(c) Pakistan

(d) None of the above

As per draft National Register of
Citizen (NRC) of July 2018, which of
the following States more than 40 lakh
illegal migrants were found ?

(a) Nagaland (b) Mizoram

(c) Assam (d) Tripura

Who of the following inaugurated
SAFAR (System of Air Quality and
Weather Forecasting) in July 2018 ?
(a) Ravishankar Prasad

(b) Piyush Goyal

(c) Dr. Harshvardhan

(d) None of the above

As per report released by U.S. Journal,
‘SCIENCE’ on 26™ July, 2018, a massive
underground lake has been detected on
which planet ?
(a) Jupiter
{c) Venus

(b) Saturn
(d) Mars

American F’residént Donald Trump met
North Korean leader Kim Jong on 12

| June, 2018 in which country ?

(@) Malaysia
(c) Singapore

(b) Indonesia
(d) Thailand

143.

144.

145.

146.

147.
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T YUE F YR W, YRR & e
frafafiea 29 § fros gummst =t
10 a9 S <hl T <1 T 7

(a) WIS,

(b) Ffe=

(c) TifeEa

(d) 3T & 1S T

ST 2018 T WHIRTG A¥Hd TSR ATH
TdIsA (NRC) o gTee & 1R ford U1
H 40 1@ ¥ A Aoy I TR TR 7
(a) RTIIVE (b) FreiA

(c) m (d) Trga

TS 2018 # 7 5 | fohwren g0 W
(ST ol T e A Soe)
3gared TR ?

(@) TemTa vE

(b) forpy Tirre

(c) Sl

(d) 39k & IS T

srfeht ufyehr, “fag=’ (SCIENCE) g/
26 JEATS 2018 I ST G1E & TTER T
faamer frTa sier =1 ga form T8 W =en
27

(a) FEEAfd T
(c) MWW

TRt o Tegufd ST 27 A ST

(b) T W
(d) T W

(b) TEMfRmETH
(d) urcve #
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- 148. Match List — I with List - Il and select | 148. Fft - I %1 Tt — 1| & gfer Hifvm |2

the correct answer from the codes given ﬁq@ﬁﬁaﬁmwwﬁﬁq I
below. 'ﬂ?ﬁ : : ‘Fﬁ "
st ol (=Teror sma & wgETE (3 )
(Samudra Gupta’s (Their Kingdoms) * fr )
Contemporary Kings .
of South India) A. TS 1, Hag
A. Dhananjaya 1. Avamukta B. HiewrsT 2.
B. Nilaraja 2. Kanchi C. 3 3. FEAR
C. Ugrasena 3. Kusthalpura D. fasupig 4, TTAFR
D. Vishnugopa 4. Palaka Tz
Code : : A B C D
A B CD
SRR
(). 2.1 4 3 ()
(8] B alodl 2 ) 31 A 2
=43 -2 1 1 L S - R |
149. Which of the following centres related | 149. =% & fiy avran ¥ Tl =-3 3=
to Indus Valley are situated in Uttar IT T 3§ g & ? ,
)
Pradesh.? e fou %2 4§ welt 3 = i
Select the correct answer from the I s
codes given below : : - .
I Kalibanga .
Il. Lothal . STt
lll.  Alamgirpur V. g™
IV. Hulas
®e:
Codes : (@ I, 1, 1, v
(E) ;. ::, i, v (®) 1, 1
(Rl © I,
() I, 1l S
(@) 1, Iv (d) 1,
150.  Which of the following institutions | 150. &&= deen fefi=mm & waft
belonged to foreign trade ? oft 7
(a) Sreni (b) Nagaram (a) ot (b) FHH
(c) Nanadesis (d) Manigrama (c) wmefdn (d) Tt
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO. o

CODE : GCTWY - 01 2018

SUB : [ SERIES

GENERAL STUDIES -1 D

Time : 2 Hours / Max. Marks : 200
Write your Roll Number In numbers

in the box In words

To mark Answer use Black Ball-point Pen only.
Candidate must read all the instructions before writing the answers.

You are to mark your answer on Answer-Sheet only. After the examination is over, handover the original
Answer-Sheet to the Invigilator.

IMPORTANT INSTRUCTIONS

1. Answer all questions. All questions carry equal marks.

2. The Candidate should indicate the correct Roll Number, Subject, Paper Code and its Series onthe Answer-Sheet,
otherwise the Answer-Sheet will not be evaluated and the candidate will be solely responsible for it.

3. This Test Booklet contains 150 questions. Each question has four (4) options which are given below the
questions. Only one option is correct out of four. You are required to darken the circle corresponding to the

alternative which you consider to be the correct or most appropriate answer in the Answer-Sheet by Black
Ball-point Pen.

4. Do not write anything on the cover page of the Test Booklet except Roll Number. Use the space for rough
_work given in the last two pages of Test Booklet.

5. If you happen to find that the Booklet issued to you does not have all the pages properly printed or it has
any other deficiency, then you need to approach the Invigilator to get another Booklet of same Series and
Code.

6. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE ANSWER
SHEET.

() There are four alternatives for the answer to every question. For each question for which a wrong answer
has been given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty. :

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the
given answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
guestion.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO.
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1, ‘a%mwaz@%’a@m%
(a) S Fdmr
(b) T FEE
(c) Hfew e
(d) wfe uyg

2. ‘=R’ § gurg
(a) FHuRg (b) sgEffe
() &% (d) dcgey

3. T HI e uf e
(@) ¥+ am (b)  + 3y
() T+ 3 (d) 9 + 319

T HEAT 49 8 % foru

aﬁ%@amaﬁmﬁwﬁmwmm
4§a%mwm%a¢mmﬁﬁq:

S =t ﬁ%aﬁm?ﬁwmmﬁaaﬁ H
mwa&%aﬁm%,mmwﬁaﬁim@faﬁa
m%awh%mw%lwmmﬁ%ﬁe%
IR IHTE & oft 2 8 It § | arfiey wigiogasy
ﬁwg@ﬁm,m,wmﬁaﬁ:&
8 lsﬁwﬁmﬂqaﬁ{mg@‘mﬁ,ﬁaﬁ
amm,tﬁgrmﬁﬁmqﬁlﬁ?ﬁrwm
ﬁmwmmmméwaﬂ
m%,ﬁﬂﬁmaﬂtmaﬁawmm
Yged § | U e e 1 vt e w3 e
ﬁﬁmwm@ﬁaqﬁﬁm | 35 |y
ST ST 311 JEehY Seskat w51 20T R |

4. Ho8 YA S A E 7
(a) arpefiar
(©) g

(b) SFEfiET
(d) SaTEfiTar
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: gaa‘lwas%qﬁmmaﬁw?ﬁr

e ?

() wgus it s

(b) <o o 1R

(c) g 37k Hreg

(d) =Ted, o 3R e gy 35 eier

. IR ST e arte foray

ST g ?

(a) 3R % swarfq
(b) =R srwlq
(©) & srwmiq
(d) 3M % 3r=wlq

. m%mrﬁﬁuﬁﬁm%aﬁq—aﬁqﬂﬁa

g

(a) F&dR, TMER iR T
(b) =HER 37N enidiy

(c) ST=daETRR 3R $arER
(d) IFAR 3 gfisndy

_ mg%ﬁaﬁmanﬂnwmﬁ‘é?

(a) 3R % YR |

(b) ST % SMuR [

(c) reTar atmeng % sqam
(d) %231 71 % 95 o R gr

. Hgw e &
(a) (b) &=
(c) wrga (d) mfteer
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10.

s

12.

13.

14.

15,

‘T qUn SE F ol ueh v B

(a) HM (b) f&=
(c) =l (d) o=
srenfifag foro are § s/ R @ ?

(a) TH @I T8
(b) =ITeteh TSt el &
(c) WM Eadr

(d) WA ?

Frefafaa A apE e B
(a) A

(b) I%

(c) Tedrshl

(d) =reE

‘T 7@, =’ Aehlh Y R
(a) T GEHH & & Sfa &1 R
(b) Ye-fora o o srgvaE

(c) Tretest Bt g T

(d) s & S

‘=i’ 1 Tl TR TR R

(a) IT=i&

(b) =

(c) @

(d) =™
‘Eﬁ@hf-ﬁhﬂﬁ@ﬂ%’%m@m%

(a) fogd (b) FeTEdT
(c) FEEraw (d) SIE

16.

17

18.

18.

20.
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‘o e TR ?

(@) St %o it 7E ST E

(b) S HE FS A &

(c) N =g gt STt &

(d) Tt o & SR e oft s R

Tk Toed 1 ST foe A

8 ?

(a) e e | i = et 2

(b) e ST =T §, WIS S
FR

(c) W& SIS /T o
(d) HYET oI STSIR I ST o

sreffaa & & 27 Sl STen e B
(a) <Ei=
(b) R

(c) Faf
(d) =

‘30 eg - i g Tl

T TR o TG T |

(a) HEFd % TIea1 I AR G & |

(b) Frdehwse ‘w1 TEMEAR |

(c) TS S G AT WIS SR
MR

(d) IS SAETET |

T wieh & & = ad A §
(a) W

(b) el

(c) BiEmE

() fedt
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21. Change the given sentence into
passive voice :
Who killed the snake ?

(@) Who was killed by the snake ?
(b) By whom was the snake killed ?
(c) The snake was being killed.

(d) By whom is the snake killed ?

22. Fill in the blank with the correct
option :
| tried to help him the
best of my ability.

(a) at
(b) to
(c) from
Jdyof

Instruction for Question Nos 23 to 27

Read the following passage carefully and
answer the questions that follow :

Speech is a great blessing but it can also be a
great curse; for while it helps us to make our
intentions and desires known to our fellows,
it can also, if we use it carelessly, make our
attitude completely misunderstood. A slip
of the tongue, the use of an unusual word,
or of an ambiguous word, and so on, may
Create an enemy where we had hoped to win
a friend. Again different classes of people
use different vocabularies and the ordinary
speech of an educated man may strike an
uneducated listener as pompous. Unwillingly

A

we may use a word which hears a different\‘
meaning to our listener from what it does
to men of our own class. Thus speech is
not a gift to use lightly without thought, but
one which demands careful handling. Only
a fool will express himself alike to all kinds
and conditions of men.

23. The best way to win a friend is to
avoid

(a} irony in speech

b) - pomposity in speech

e
" (c) verbosity in speech
(

d) ambiguity in speech

24. While talking to an uneducated person,
we should use

(a) ordinary speech
(b) his vocabulary
(c) simple words

(d) polite language

25. If one uses the same style of language
with every one, one sounds

(a) flat

(b) boring

(c) foolish

(d) democratic

26. Speech becomes a curse, if it
(a) hurts others
(b) leads to carelessness
(c) creates misunderstanding
(d) reveals our intentions
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27. Speech is a gift, if it

28.

29.

30.

31.

(a) creates confusion

(b) communicates our meaning
clearly to our fellows

(c) becomes ambiguous
(d) is used lightly

The phrase "Pyrrhic Victory” stands
for

(a) easy victory

(b) honest victory

(c) victory at a high cost
(d) victory at a low cost

Choose the word which is opposite in
meaning to ‘VENERATE'.

(a) respect
(b) condemn
(c) severe
(d) initiate

Change the following sentence into
complex sentence :

‘Without your help he can do nothing.’
(a) Without your help what can he do

(b) Unless you help him he can do
nothing

(c) He can do nothing without your
help

(d) He can not do anything unless
you help him

Identify the part of speech of the
underlined word :

The boys ran round the tree.
(a) adjective

(b) adverb

(c) noun

(d) preposition

32.

33.

34.

35.

GCTWY-02

Change the following sentence into
indirect form :
The teacher said, “Be quiet, boys".

(a) The teacher said that the boys
* should be quiet

(b) The teacher called the boys and
ordered them to be quiet

(c) The teacher urged the boys to be
quiet

(d) The teacher commanded the boys
that they be quiet

Complete the sentence with suitable
alternative :

The son asked his mother if he
(a) can go out

(b) may go out

(c) might go out

(d) did go out

Fill in the blank with the appropriate
word :

It is difficult for me to part
my belongings.

(a) with

(b) from

(c) away

(d) off

Pick out the synonym of ‘ERUDITE'’
from the following.

(a) execute
(b) expanse
(c) academic
(d) settle
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36.

37.

39.

How many natural numbers are there
in between /841 and /3249 ?

(a) 26 (b) 27

(c) 28 (d) 29

If 20% of (X + Y) = 50% of (X =Y),
then X : Y is equal to

(@) 3:7 (b) 5:7

(c) 7:3 (d) 7:5

If the compound interest on a sum
for 2 years at 12%% per annum is

% 340, then the simple interest on the
same sum at the same rate for the
same period of time is

(a) T 310 (b) ¥ 320
(¢) ¥ 330 (d) X 335
The area of the given circle is 36x. It

has been divided into six equal parts.
The length of arc PQ will be

(a) =«
(c) 4rn

(b) 3n
(d) 2n

A right angled triangle having
hypotenuse 25 cm and sides are in
the ratio 3 : 4 is made to revolve about
its hypotenuse. The volume of the
double cone so formed is

(a) 1000m cm?®

(b) 12507 cm?®

(c) 1500m cm?®
(d) 1575m cm?®

i e

36.

37.

38.

39.

40.

||m|||||mumn|mnmugnmnu

J841 3R /3249 %m%ﬁls@ﬁm
dEuE ¢
(a) 26
(c) 28

(b) 27
(d) 29

IR (X + Y) F120% = (X — Y) F150% &,
X Y FH R

(@) 3:7 (b) 5:7

() 7:3 (d) 7:5

g uwk TR 2 a8 | 12 % gfererd it =
R TFHIIG T 2 340%,&3‘&3{&%
Tf¥t w3t ey & o’ g sars
g ?

(a) T 310 (b) ¥ 320

(c) T 330 (d) T 335

{33 77 %1 1 &t 367 & | SHHT 6 ST
Wl & ofieT T 8 | = PQ i oS gt

(@) n
(c) 4n

(b) 3

(d) 2n

ek TR g i, foreerr ol 25 & &
T{éﬁmﬁ3:4‘;ﬁaﬁmﬂﬁ%,$ufaiqﬁﬁ:
TR TR ST T | 39 v (A e
I T B

(a) 1000x s

(b) 1250n &Hte

(c) 1500n T

(d) 1575x Tt
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41,

42.

2 2

X +y
xy +y?

If 5+1 = 2, then value of
y X
is equal to

(a) 0
(b) %
(c) %
(d) 1

If X, y, z are positive integers such that
X:y=1:2andy:z=3:5, then which
one of the following will be possible
value of 5x =3y + z ?

(a) 180
(b) 190
(c) 196
(d) 200

If x -2 is a factor of polynomial
X% + 4x2 - 3x — 18, then it's other
factors are

(@ x+2,x+3

(b) x-3,x+1

() x+3,x+3

(d) x+1,x+2

The roots of the equation x2 + px +q =0
are 1 and 2, the roots of the equation
ax? =px + 1 =0 must be

1
(@ 1,3

1
(b) -El 1

3

niHl e

41,

42.

43.

44,
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2 2
wRE Yoo @ 2L S
¥ X Xy +y
TR 2
(a) O
(b) '
(c) Ya
() 1

AT x, y, z ST QI 39 wEw &
x:y=1:23ﬂ‘{y:z=3:5,?ﬁ
ﬁﬂ%ﬁ@ﬂﬁ@aﬁﬂ—Wanﬁy+zﬁ
Y T i ?

(a) 180

(b) 190

(c) 196

(d) 200

afe TG X° + 4x2 - 3x — 18 F
T UHETE x - 2 &, Tl 56 39
TOFEYE §

(@ x+2,x+3
(b) x=3,x+1
() x+3,x+3
d) x+1,x+2

Tl 32 + px + q= OF A 1 A9 2],
ol TR gx2 — px + 1 = 0 % e B

1
(@) 1, >
v
(b) —5,1
1
(C) _5!_1
1
(d) _1r E
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45.

46.

47.

48.

49,

Which is not a part of communication
process ?

(a) Medium

(b) Life values and vision

(c) Transmission

(d) Information

Which of the following characteristics
is most important for taking appropriate
decisions for socially disadvantaged
persons ?

(a) Empathy

(b) Extroversion

(c) Emotional instability
(d) Authoritarianism

The biggest advantage of regular

interaction between officer and

sub-ordinates in an organization is

(a) It satisfies the sub-ordinates

(b) It results in decrement group
relations

(c)

It facilitates effective decision
making _
(d) It discourages the sub-ordinates

Irrational decisions taken in a high
conformity group is called

(a) Creativity

(b) Group thinking

(c) Informality

(d) Esychological vigilance

Which decision making style is most
productive ?

(a) Passive .

(b) Aggressive

(c) Assertive

(d) Passive-aggressive

45.

46.

47.

48.

49.

0 O O

%
frfeifiga § & FF-1 FEW0T SR
s A ?
(a) HIEIH
(b) e T g
(c) E=T
(d) T

frfafiad § ¥ SF-d fEwa amfe
w9 & S safRE % fore 3hm fofr 3
3 foru i Tewl & 7

(a) WU |

(b) sfedwar

(c) HaTTeHeh Sifera

(d) EamETear

TRt e 1 arfereprt o Srefireeli % 7
T i =1 ged =21 @Y 98 & 6
(a) ¥ el = Tgfe Je@ & &
(b) g% THE HeH i T 7

(c) & STl Tt Fmfor =i g st &
(d) = aTefieelt =) wareanfed

I STEYAT SR B foTe T YR o
FEeTd B

(a) GeiTcHshdl

(b) HHE I

(C) SR

(d) RIS Tashar

foofa o it - vefa ottt
IqEnft & 7

(a) Ffera

(b) TTHIMER

(c) gedmh
(d) Tt
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50. While selling a watch, shopkeeper

51,

52.

53.

gives discount of 5% on it's marked
price. If he gives discount of 10%, then
he earns ¥ 25 less as profit. Marked
price of the watch is

(@) % 300
(b) % 380
(c) ¥ 500
(d) T 700

A student has to secure 45% of marks
to pass an examination, He gets only
50 marks and falls by 4 marks. The
maximum marks Is

(@ 110
(b) 120
(c) 135
(d) 150

10 women can complete a work in
7 days and 10 children take 14 days to
complete the same work., How many
days will 5 women and 10 children take
to complete the work ?

(a) 3
(b) 4
(c) 5
(d) 7

The average age of a husband and his
wife was 23 years at the time of their
marriage. After 5 years, they have a
one-year old child. The average age of
the family now is

(@) 19 years

(b) 23 years

(c) 28.5years

(d) 29.3 years

GCTWY-02

50. @Hﬁﬁéﬂ%m@uﬁmm#ﬁ?ﬁ

51,

52.

53.

T T 5%h1 g 21 21 3f 5% 10% Fr g
</, I A F w7 25 T e B
T 1 Sl 7ew 3

(a) ¥ 300

(b) ¥ 380

(c) ¥ 500

(d) ¥ 700

T TRIETT H T BT b e B 35 R 45%
3% ST % B ¥ | 78 ¥t 50 ot T
e & R 4 o & srawer B ST ¥ |
tfbepe st T & 7

(a) 110

(b) 120 -

(¢) 135

(d) 150

T 1 1 10 3 7 9 3 g o wereft 2
@tzaﬁmﬁa%maa‘r-mféﬁﬁtmw
TR € | 38 FH B 5 S 10 5=
feher Tt & g sy 2

(@) 3

(b) 4

(c) 8

(d) 7

ST o6 E U 37 37 3 a6 o
1Y 23 99 off | 59 1R, IH I 1 99 F5y
a1 R | 37 R IRER A s oy e
&7

(a) 19 =Y

(b) 23

(c) 28.5a4

(d) 29.3 =9
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54.

b5.

56.

57.

58.

Every novel of Premchand can be
read in a day. Therefore all novels
of Premchand can be read in a day.
This involves the fallacy of

(a) Division

(b) Composition

(c) Petitio principii
(d) None of the above

Assertion (A) : Education is must for
success.

Reason (R) : Education is key to
success.

Select the correct answer from the
code given below :

(a) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(b) Both (A) and (R) are true but (R) is
not correct explanation of (A)

(c) (A)istrue and (R) is false

(d) Both (A) and (R) are false

‘Iron is a cheap metal’ is an example of
(a) Accidental definition

(b) Figurative definition

(c) Synonymous definition

(d) Too narrow definition

‘Division of chairs into leg, back and
seat' is an instance of

(a) Logical division

(b) Physical division

(c) Cross division

(d) Metaphysical division

If x and y are positive integers such
that x2 — y? = 18, then the possible
value of x2 + y2 will be

(a) 90 (b) 85

(6 72 (d) 65
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54.

55.

56.

57.

58.

0

%

Yrree 1 TS 39U T & H el
HeraT © | TEfere Y9 o gl 3U=TH T
¥ w3 = wRa & | 5 ifed ah Qe @
(a) famre

(b) T

(c) HATHEH

(d) I F F HIE T8

U (A) : TEHEAAT o fore e ST B |

THIT (R) : Rre avher i FH0 R |

mﬂ%ﬁﬂﬁﬁﬁﬁ@:

(@) (A)T (R) 3HI & @ 31 (R), (A)
6 TE =TS &

(b) (A) 7 (R) 3H1 @ & g (R), (A)
1 TE e A8 ©

(c) (A) T 3 (R) W ©

(d) (A) 3N (R) T 3T &

‘ST T wd e 8 I8 See
(a) SATRITE TRATIT

(b) STeTehIiEs TITET 1

(c) TRTgaTEt TRTNT 1

(d) 7T YIS =T

“spfi st 2, foreer fewen qen de A
faTe’ T JaTE ©

(c) Tufdra favmsm =1
(d) emeafcres fesTeH

I x 3K y arTene Uil 38 v & 6
X2 — y2 = 13, T X2 + y2 1 G9a A AT
(@) 90 (b) 85
() 72 (d) 65
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59. The diagonals of a rhombus are of

61.

62.

lengths 24 cm and 32 cm. Length of
the side of rhombus (in cm) is

(a) 16
(b) 20
(c) 24
(d) 30

A hemisphere and a cone have equal
bases. If their heights are also equal,
then ratio of their curved surface will
be

(a) 2:1
(b) 1:2
) 2 :4
d 1:2

The length, breadth and height of aroom
are 12 m, 4 m and 3 m, respectively.
A man wants to put rods of lengths
14m, 12 m, 13 m and 15 min the room.
Maximum number of rods which he can
put in the room is

(a) 1

(b) 2

(c) 3

(d) 4

If the mean of x., x, is 7.5 and the mean
ot x,, x,, X, is 8, then the value of x, is
(@ 9

(b) 8

(¢) 7.5

(d) 6

-11-
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60.

61.

62.
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Teh GRS o forahort shi erarrsal 24 9.

YT 32 {rfY. & | THEgHS % T o s
(Beft. ) 3

(a) 16
(b) 20
(c) 24
(d) 30

T AT 3R UF T UW THH
§ 1 9 3R Ferdat f g R, Sk am
T A SR

@ 2:1 !

(b) 1:2

(©) +2:1

(d 1:42

U F Al g, <ierd 991 ST EE:
12, 4 5. q1 3. B | G v 3@
FHH 14 9., 12 1., 13 f. qur 15 .
Al BT I T AT @ | 36 B H 97
TR fohat Bl ol W g & 7

(a) 1

(b) 2

(c) 3

(d) 4

qﬁx1,xawm?.5ﬁﬂ1x1,x2,xa‘$rmﬁ?
83, x, FAFR

(a) 9

(b) 8

(c) 7.5

(d) 6



63.

64.

65.

66.

nik ofe
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Which one of the following is not included
in classroom communication ?

(a) Indirect communication
(b) Informal communication
(c) Silent communication

(d) Formal communication

For which purpose circular type of
communication is most suitable 7

(a) Member dissatisfaction
(b) Effective judgement process
(c) Member satisfaction

(d) Effective transmission of
information

Listening can be best defined as

(a) The physiological process of
decoding

(b) A process we use to make sense
out of what we hear

(c) Forwarding the information that has
been communicated

(d) Recalling information that has been
communicated

What is meant by responding ?

(a) Focussing on a particular sound or
message

(b) Sorting the various sounds that
draw your attention

(c) Confirming your understanding of
a message

(d) Assigning meaning to messages

«12-

63.

64.

65.

66.

OO O A

P & & ST S RS
ofmfea adi e ?

(a) STICTET TETOT

(b) ST TNy

(c) HH TRy

(d) fio=nfies aEmoT

e 38 B JUTHI TR HalT®
IR & 7

(a) UeHT I

(b) G&m fAofa wfsrn

(c) wewrEgfe
(d) TS % Hawm A=

T 1 s st v & TR

e <1 weaT B

(a) HeareH i <feeh sk H&a T

(b) SHETHA & 3ht e ek o s
T IR & o

(c) Eerite <ht 1T FET I IR T

(d) Gt ot T8 FEAT T TR HE

TRfFT N T R I E 7

(a) THTARR sTER IRy e R
AT

(b) 3R A Wi arel = s
I BEA

(c) T Hawl & wfd st wwg i gfe
AT

(d) Hesit o o7 WeH wen
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Bi‘ If median and méan of the first 10 prime

68.

69.

70.

numbers are M and m, respectively,

“then

(a) M=m
(b) M>m
() M<m

(d) None of the above

Mode of the observations 0,1,6,7, 2,
3,7,0,7,2,6,6,7,5,0, 7 is

(a) 3.8
(b) 6
() 7

(d) None of the above

The proportion of various items in a pie
diagram is directly proportional to the

(a) Area of slices
(b) Angle of slices
(c) Length of curved arcs of slices

(d) Perimeter of slices

The relationship that exists between
3 and 11 will exist between 7 and

(a) 22
(b) 29
(c) 18
(d) 51
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67. e WUH 10 TS Tt o wifS ud

68.

69.

70.

IS SHHST: M 3T m &, at
(@ M=m

(b) M>m

(¢) M<m

(d) 39ed § & E 78

3891 0,1,6,7,2,3,7,0,7, 2,6, 6,7,
5, 0, 7 %1 JgeTF &

(a) 3.8

(b) 6

(&) 7

(d) IR | B I e

w0 ot o fafivr wet =1 arguma fes
Furgare g @ ?

(a) 7 STHe &

(b) T & =ivif F

(c) 3T¥Ti o =gk =M =Y TS

(d) 79T} = it &

a3 3t 11 # R 9wy 7 i g
7 g ?

(a) 22
(b) 29
(c) 18
(d) 51
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71.

72.

73.

74,

Which of the following is a type of
horizontal communication ?

(a) Lateral communication
(b) Downward communication
(¢) Upward communication

(d) Neutral communication

Which one of the following can be

termed as verbal communication ?

(a) Professor Sharma delivered his
lecture in the class

(b) Professor Verma gave the
message to the students through
mobile

(c) The child was crying to attract the
attention of the mother

Deepak wrote a letter for leave
application

(d)

Communication through gesture is
related to

(a) Kinesics

(b) Proxemics

(c) Para-language

(d) Non-verbal behaviour

Which one of the following is not a form
of communication ?

(a) Interview
(b) Reading interesting novel
(c) Discussion

(d) Social interaction

71.

Te.

73.

74.

(U R O

\
Freferfas o ¥ HH-a1 & T = U
YRS ?

(a) TfTdeh GwmoT
(b) et TS
(c) TEATHY TN
(d) T TN

eNferRae o & F-a1 fercd i Targ
Faaare ?

(a) SER Il 3 AT TSI FHE |
e

(b) SHET FEl 3 AU TN WA 5
B A &=

(c) i eh & o SR & ferg, sreen
@

(d) Sroen A gE o e 3 fore w3 foran

TTa-TTa T W07 Heiferd 8
(a) FE-fTE

(b) fwafiee &

(c) T-SEsH

(d) SFemfessh TR &

Frefofas # 9 FH-91 T S 1 &9
LR

(a) GIETERR

(b) TRSTE I Y1
(c) @ar®

(d) arf or R :

ak e e L e P e
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1 x
75. Inacode, if

41-32=55
42-34 =76
53-13=48.
then 33 -22 is
(a) 11 (b) 44
(c) 46 (d) 64

76. While introducing a man to her husband,
awoman said his brother's father is the
only son of my grandfather. How is the
woman related to this man 2

(a) Aunt (b) Sister
(c) Mother (d) Daughter

77. 1f4x6=1812 5 x 8= 2415,
6x9=2718,then 7 x 6 =

(a) 1821 (b) 2428
(c) 3035 (d) 3642

78. In the following table, Missing number
Xis

28
25 31

20 24 32 36

(a) 24 (b) 28
(c) 30 (d) 32

A -15-
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75. Tt e, af

76.

41-32 =55
42 -34 = 76
53-13 =48,

A 33-22

(@) 11 (b) 44

(c) 46 (d) 64

T 79 Sl 9 9f & v 0 g, o
®ft 4 e i 30 Wi & R Wz
T O & | 7% S e o 3w gen @
T g ?

(a) == (b) &
(c) = (d) gt

w&4xe=1312.5x3=2415,
Bx9=2718, M7 x 6=
(a) 1821 (b) 2428

(c) 3035 (d) 3642

78. FrefRaa arferes & q gen x 2

28

25 31

20 24 32 36

(a) 24 (b) 28
(¢) 30 (d) 32
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79. In a certain code, TABLE is written as
UCEPJ, then which of the following

code would be written for CHAIR ?
(a) DKMNT

(b) DJDMW

(c) KDFAT

(d) KCGOD

80. Eightfriends meet at a party. Each one

shakes hand with each of the other
once. The number of possible hand
shakes is

(a) 64
(b) 56
(c) 28
(d) 20

81. ‘Some languages are difficult to learn.

Sanskrit is a language. Therefore,
Sanskrit is difficult to learn.” This
involves the fallacy of

(@) Undistributed middle term
(b) Composition
(c) Division

(d) None of the above

-16-

79.

80.

81.

A l@\m

o o R e A TABLE S
UCEPJ forat smar &, &Y CHAIR it
Prefafag & e e ¥ foran

s ?

(a) DKMNT
() DJDMW
(c) KDFAT
(d) KCGOD

172 fir T T A e € | ot vl T
i Ty e € | Tl oy e
e &

(a) 64

(b) 56

(c) 28

(d) 20

g

‘o WY e e gl 8| 6 T

TS & | 37 U9 HEhd HiEH Ao 8l
fifka aham g

(a) AT HEAH TS
(b) HIE

(c) Tomrm

(d) IR F B I TE
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82.

83.

84.

85.

In a certain code, PAN is written as 31
and PAR is written as 35, then in this
code, PAT is written as

(@) 30
(b) 37
(c) 38
(d) 39

In the process of communication, the
last step is

(@) Encoding
(b) Message
(¢) Decoding
(d) Feedback

Communication that used to assign
goalsto sub-ordinates in an organisation,
is called

(a) Upward communication
(b) Downward communication
(¢) Informal communication

(d) Lateral communication

Which of the following is not a
communication barrier in g workplace ?

(a) Noise

(b) Prejudice

(c) Active listening
(d) Improper medium

17-
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82. s fafseg FEH PAN % 31 forma & afk

83.

84.

85.

PAHaﬁss%@%r%,a‘rmﬁﬁ PAT &
fora st 2

(a) 30
(b) 37
(c) 38
(d) 39
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86. Which number should be in the place | 86. ﬁqﬁfﬁgﬁﬁmﬁﬁgﬁ;mmqﬁq; '

of the question mark in the following ? ot g Bl 7
" 2

-1‘% -4 —1‘/-;— L4

(a) 5876 ' (a) 5876

(b) 5866 (b) 5866

(c) 5776 (c) 5776

(d) 5766 (d) 5766

a7 Which order of the following words is 87. ﬁmﬁftﬂﬁmﬁma’;’h—mwaﬁ% ?

orrect ?
it (@) T, ST, 9RET
(a) Digestion, mastication, cooking
ak : e (b) ST, TeRHT, T
(b) Mastication, cooking, digestion
(c) Cooking, digestion, mastication (c) WM, =T, Fel

(d) Cooking, mastication, digestion (d) DRI, ST, TEET

g8. ‘A plantis a vegetable organism’ is an gg.  ‘“dhem s et sl 2 98 S 2
example of (@) e SR

(b) Foriveemes afaTe 1

(c) TtEaT= TSI

(a) Figurative definition
(b) Negative definition
(c) Synonymous definition

(d) Accidental definition (d) STeRfEE TR
89. If'+' means '~ means '+, x means | 89. af o e, = I e, o T
'~ and ‘+' means ‘+', then4 +8-2x O W s 4 R,
244=1
4:+8-2%2+4=1
(@) 4 (@) 4
(b) O (b) O
(©) 8 (c) 8
(d) 6 (d) 6
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90. Check the following three statements -

91.

92.

1. Kamla is not Ravi's wife.
2. Premlata is Ravi's mother.

3. Sita is the only daughter-in-law of

Premlata.

What conclusion can be drawn from
the above mentioned Statements ?

(a)
(b)
(c)
(d)

Kamla is sister of Sita.
Premlata is mother of Kamla.
Sita is Ravi’s wife.

Kamia is daughter-in-law of
Premlata.

Which of the following conclusions can
be validly drawn from the given set of
premises ?

1. No hero is coward.

2. Some soldiers are cowards.
Conclusions :

(@) No soldier is coward.
(b) All soldiers are heroes.
(c) Some soldiers are not heroes.

(d) Some soldiers are heroes.

‘Division of Indians into rich, poor,
intelligent and dull’ is an instance of

(@) Cross division
(b) Physical division
(c) Metaphysical division

(d) Logical division
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90. TR e i st Hifvr -

1.

92.

1. Her I i oeft 7 2

2. ST U i i g

3. T et i wehuE gy )

I FUA ¥ M a1 s e
HFEATR 7

(a) e Hiar ) s )
(b) AT e At
(c) #iar U i usht &)

(d) AT et Sl gorereg 3|

SERETRIT % 3 T v & e i
% a1 frend 3y wu A Raear 7

1. %0 oft TRIGFPR T B B

2. Fo Rt wrr 89 &)

Toreed ;

(a) T3 R s 78 B

(b) @it fooret smrgra ¥ |

(c) F® Rt aere et e |

(d) F3 R s g |

WRAET w7 IR, T, gfemm o
Wi H frvre’ u s

(a) %@ formem =y

(b) ¥ifcrer fervyrer =1

(c) meaTfeter forre 1

(d) e R =1
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93. Which one of the following figures is
different from the rest ?

(@)

@
.®
.

@ | [

94. Consider the following arguments :
A. All poets are idlers.
B. No poets are idlers.
Which of the following conclusion can
logically be drawn ?
(a) A can be true and B can be false
(b) A can be false and B can be true

(c) Both statements A and B can be
false

(d) Both statements A and B can be
true

95. Which one of the following pairs has the
same connection asin between GJ and
Qu ?

(a) BC and WZ
(b) ABand ST
(c) ADand SW
(d) DHand VY

IIII\lllIIIHIIIMlIIWlIIIﬂIIIﬂlIIL@

o5, Preffas sTaRei A dm A ey ?

94.

- ®
10
o £\

@ |

o gfaalt o forem hifvTe -
A, Gt i TR B € |

B. P i e T& ol 8l
frefiaRaa o T - T qena: Fshre
STahar e ?

(a) AT adl B STE B Wkl &

(b) A STE G B U o1 ekl &

(c) A 3fR BRI o TEe B wehd ©
(d) A 3B I o T B T B

95. Frmffiaa i o forer ot wearer &,

GJIRQUF TS ?
(a) BC3ImWZ
(b) ABIRST
(c) AD IR SW
(d) DH 3R VY
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96.

97.

98.

99.

100.

Which number will come next in the
following series ?

5,16,51,158, 7
(a) 1454 (b) 483
(c) 1452

(d) 481

Which one of the following is different
from the others ?

DFH, KMO, RTV, TWZ

(a) KMO (b) RTV

() TWZ (d) DFH

If the 4" day of a month is Saturday,

which day will be the 5 day before 26"
of this month ?

(a) Monday
(¢) Friday

(b) Tuesday
(d) Sunday

Complete the sequence with the correct
option from the following codes

oW .
(@ F. ST (b) F.S,S
(© SFT (d) T,F s

Two Americans are going. One is father
of the son of the other. What is the
relationship between the two ?

(@) Father- Son

(b) Mother - Son

(c) Mother — Daughter

(d) Husband - Wife

96.

a7.

98.

29.

100.
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Srf ?
5,16, 51,158, ?
(a) 1454 (b) 483
(c) 1452 (d) 481

e & & A-ar v s A i 2
DFH, KMO, RTV, TWZ

(a) KMO (b) RTV

(c) TWZ (d) DFH

afe fereft v =1 <hen R wiEm R, drag
WE %263 R ¥ 5 R TR S wr
qhT 7

(a) @HaR (b) TTeER

(c) TR (d) e
sl 2 Wikl § & T Reen g
e i ot f -

M, T,W,T, ; .

(a) F,S,T (b) F, S, S

) S,F,T (d) T.F, S

2 SR 1 R ¥ | O g 3
I A wmgg?

(a) forar-g

(b) AT~

(c) AT~

(d) 9fo-veft
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Time : 2 Hours Max. Marks : 200

Write your Roll Number In numbers
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in the box In words

To mark Answer use Black Ball-paint Pen only.
Candidate must read all the instructions before writing the answers.

You are to mark your answer on Answer-Sheet only. After the examination is over, handover the original
Answer-Sheet to the Invigilator.

IMPORTANT INSTRUCTIONS

1. Answer all questions. All questions carry equal marks.

2 The Candidate should indicate the carrect Roll Number, Subject, Paper Code and its Series on the Answer-Sheet,
otherwise the Answer-Sheet will not be evaluated and the candidate will be solely respansible for it.

_ This Test Booklet contains 100 questions. Each question has four (4) options which are given below the
questions. Only one option is correct out of four. You are required to darken the circle corresponding to the
alternative which you consider to be the correct or most appropriate answer in the Answer-Sheet by Black

Ball-point Pen.

. Do not write anything on the cover page of the Test Booklet except Roll Number. Use the space for rough
work given in the last two pages of Test Booklet.

. If you happen to find that the Booklet issued to you does not have all the pages properly printed or it has
any other deficiency, then you need to approach the Invigilator to get another Booklet of same Series and

Code.

. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE ANSWER

SHEET.
(i) There are four alternatives for the answer to every question. For each question for which a wrong answer
has been given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the
given answers happens to be correct and there will be same penalty as above to that question.

(ili) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.
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